
К(H2CO3) = 4,45×10-7 

 

CaCO3    CO3
–2 + Ca+2 

H2CO3    CO–2 + 2H+ 

 

H2CO3 + CaCO3 → Ca(HCO3)2 

 

 

pH = – lgК(H2CO3) + lg
]H2CO3[

]CaCO3[
  

lg
]H2CO3[

]CaCO3[
 = pH + lgК(H2CO3) 

 

lg
]H2CO3[

]CaCO3[
 = 8.50 - 6.35 = 2.15 

]H2CO3[

]CaCO3[
 = 141. 25 

lg
]H2CO3[

]CaCO3[
 = 8.25 - 6.35 = 1.9 

]H2CO3[

]CaCO3[
 = 79.43 

lg
]H2CO3[

]CaCO3[
 = 8.00 - 6.35 = 1.65 

]H2CO3[

]CaCO3[
 = 44.67 

lg
]H2CO3[

]CaCO3[
 = 7.75 - 6.35 = 1.4 

]H2CO3[

]CaCO3[
 = 25.12 

 

lg
]H2CO3[

]CaCO3[
 = 7.00 - 6.35 = 0.65 

]H2CO3[

]CaCO3[
 = 4.47 
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